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Problem quickname: 7246

1) Quick:

o 7246
Measure the length of the line segment indicated exactly to the millimetre.

A ¢ B ) By
Length of AC : 4cm

C--
A-- [R—
Length of AC' : 1em
c) A
C
B
Length of OB : 2.1cm
27> Quick:
7246
Measure the length of the line segment indicated exactly to the millimetre.
2 A c_ B b By
Length of C'B : 1.5cm
C--
A--

Length of AC : 2cm
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A ¢ B ) B
Length of AC : lem
C
A [
Length of AC : 1lem
° A ¢ B h B
Length of AC : 2cm C
A [
Length of AC' : 2cm
3)
Measure the length of the line segment indicated exactly to the millimetre.
Length of AC : 3cm
B
Length of CB : 2.6cm
¢) Bt d p
C
A
cl Length of CB : 2.6cm
A-- [
Length of C'B : 2.9cm
° A ¢ B ) Br
Length of AC : 2cm Ct

A-.
Length of AC : 3cm
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4> Quick:
7246
Measure the length of the line segment indicated exactly to the millimetre.
a) —y — b) B
A C B — C A
Length of C'B : 4.3cm Length of AC : 2cm
c) A d B
C C
A
B L Length of CB : 1cm
Length of AC : 1cm
¢ B £ B
C
C
A [—
A Length of C'B : 5.1cm
Length of AC : 3cm
Good Luck!
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